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| Vector input and arithmetic

> u = <1,1>;
]
we=| @
(> v = Vector([2,1]);
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[ > u.v; # dot product
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[ > u+v;
3
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:Matrix input and arithmetic
> A := Matrix([[2,11,[1,21]1);
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> B := Matrix([[1,1]1,[1,01]); »
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i> A+B;
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[ > A.B;
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7> A.u;
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[ > (A™2) .u;
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[ > A.(A.u);
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:Solving Ax=b
> b 1= <1,1>;
1
1
(> Ab := <A|b>;
) 2 1 1
b = 13
1 2 1 (13)
;> with(LinearAlgebra):
> R := ReducedRowEchelonForm(Ab);
1
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R:= | (14)
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[> R[1..2,3];
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B LinearSolve(A,b);
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:Matrixinverse
> I2 := <<1,0>|<0,1>>;
1 0
2 = 17
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(> B := <A|I2>;
21 10
B = 18
1 2 0 1 (1%
B R := ReducedRowEchelonForm(B);
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(> 1/A;

> A;

> T4

7> x*kI2-A;

od;

> R[1..2,3..4];

B Determinant(A);

;Matrix input using a loop
:= Matrix(4,4);

i> for i to 4 do
for j to 4 do
:= abs(i-j);

T4[1,j]

| Determinants and characteristic polynomials

B CharacteristicPolynomial (A, Xx);
2
x —4x+3

B Determinant (x*I2-A);
x2—4x+3
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od;
T4;
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> € := [x[1],x[2],x[31,x[4]];
for i to 4 do
for j to 4 do
T4[i,j] := C[ abs(i-j)+1 1;
od;
od;
T4;
C = [xl,xz,x3,x4]
>x1 X, X x4_
Xy X Y X
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B Determinant(T4);
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